Jame  Name:

"~ Addition Challenge

Solve the equations.

1.49+50=__ 1.19+21=__
2.26+13=__ = 2.B54+16=__
3.18+18=__ 3.75+20=__
4,92+18=____  4.38+30=____
5.60+70=__ 5. 27+13=__
6.35+45=__  6.80+90=__
7.14+14=____ 7.40+50=__

8.26 + 26 = 8 65 + 25 =

9.70+40 = 9.16 + 16 =

10.56 + 20 = 10.43 +17 =

Worksheet 2
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Addition Challenge

Solve the equations.

1.49 + 50 = 99
2.26 +13 = 39
3.18 +18 = 36
4,92 +18 =110
5.60+70=130

6.35+45 =80

7.14+14 =28

8.26 +26 =H2
9.70+40 =110

10.56 +20 =76

Worksheet 2

1.19+21=40
2.54+16 =70
3.75+20=95
4. 38+ 30=68
5.27 +13 =40
6.80+90=170
7.40+50 =90
8.65+25=90
9.16 + 16 = 32

10.43 +17 =60




